Ratio to ATLAS

C f
Unentraly,  oq - MOrwardy,, o0

N
o

w
o

N
o

=
o

-10

=20

0.5

8000 GeV pp

AverageA N, (pT>5, central-forward, | < 2.1)

ATLAS

--H-- Pythia 6.428 391

o

- Pythia 6.428 393
- Pythia 6.428 394

v-- Pythia 6.428 395

||||||||||||||‘ﬁ|||||||||||||||||||||||||||||

__ I 7 Il III |I it [ 1 1 1 1 [ 1 1 1 1 [ 1 I
— no |
. - . .
: l! ! | 1
. N .
N ) 1 h ]
— i I
— o I I
— o I 1
B ll ' I ;|
B P [ n
T Lo | 1
0y Yy I i 7]
— I O —
| ' - [ li |
1y Uy I '
T I
.|;| rE'I Ll | Lo | 1 1 1 [ | P I |

e
1500

Jet P, [GeV]

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


